ﬁ @ g Moltiplica i decimali per potenze negative di dieci

Nome: Data: Punteggio:
9402 x 0.001 = 6264,9 x 0.01 =
8906, 3 x 0.01 = 4428,4 x 0.1 =
2390,2 x 0.001 = 5313,7 x 0.01 =
9324, 6 x 0.0001 = 4442,3 x 0.1 =
8734, 1 % 0.0001 = 5613,9 x 0.0001 =
9395,8 x 0.001 = 7321,5x0.01 =
8631,5x 0.1 = 1614,9 x 0.01 =
1013,5x 0.1 = 2994, 1 % 0.001 =
1133,8 < 0.001 = 2401,4 x 0.01 =
4786,2 x 0.001 = 7463,6 % 0.01 =
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W @ g Moltiplica i decimali per potenze negative di dieci

Nome: Data: Punteggio:
9402 % 0.001 = 9.402 6264,9 x 0.01 = 62.649
8906, 3 x 0.01 = 89.063 4428, 4 x 0.1 = 442.84
2390,2 x 0.001 = 2.3902 5313,7 x0.01 = 53.137
9324, 6 x 0.0001 = 0.93246 4442, 3 x 0.1 =444 .23
8734,1 % 0.0001 = 0.87341 5613,9 x0.0001 = 0.56139
9395, 8 x 0.001 = 9.3958 7321,5x0.01 =73.215
8631,5 % 0.1 = 863.15 1614,9 x 0.01 = 16.149
1013,5x 0.1 =101.35 2994, 1 % 0.001 = 2.9941
1133, 8 x 0.001 = 1.1338 2401,4 x0.01 =24.014
4786,2 x 0.001 = 4.7862 7463,6 % 0.01 = 74.636
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